

## Balance the Equation

Fill in the missing numbers in the equation.

$$\boxed{2} \times \boxed{4} + \boxed{2} \times \boxed{3} = \boxed{2} \times \boxed{\phantom{00}}$$

$$\boxed{8} \times \boxed{3} + \boxed{8} \times \boxed{5} = \boxed{\phantom{00}} \times \boxed{\phantom{00}}$$

$$\boxed{\phantom{00}} \times \boxed{9} - \boxed{\phantom{00}} \times \boxed{4} = \boxed{6} \times \boxed{\phantom{00}}$$

$$\boxed{\phantom{00}} \times \boxed{9} = \boxed{4} \times \boxed{\phantom{00}} + \boxed{4} \times \boxed{2}$$

$$\boxed{7} \times \boxed{4} = \boxed{\phantom{00}} \times \boxed{6} - \boxed{\phantom{00}} \times \boxed{\phantom{00}}$$